However, all work

efinite integrals.
the calculator-

MAC2311 Test4
s without using

ipite integra

=f 2 #
=(3x*g 52/,
,-"l-;_ ."" ﬁ/}
Sy r ) 3 (o) ’?‘?(o)s )
:‘a+%(2); ,,_.(o+o)
-t lﬁi = (,?P+?'t/
S 5 ¢
= Bﬂ' ;24“'(?




3 f-DEx+Ddr = 5 (3% 12y -Bx —2)die
= g( ?)XL-'X —2—) d X

= ' 2-
= 3x3 _x*-ax

3 2

P b

3
- L u -3 :l,’i(ulX) rC




/4

;qucg)w-usﬁﬂ

(T2 ., 2
6 &)

6. | cosx sin®x dx

~H B+ b2

=0

-

= U

s

3

b

, 73
5. fn/ cscxcotx dx = (—CSC, X)/

Wy

. -2{2+20

"

EAEE:

3

= co&x‘d/)(

U =s1nx -
A = &

e

e

{2 ~
* A 2598 1304

(s <Vremre)
:% (smx) = \i&qu‘kc

7. Aradar gun was used to record the speed of a runner at times given in the
table. Use five right rectangles to approximate the distance the runner covered

» ' F
during those five seconds.
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